
Time: 10 Minutes Paper Math 4 Total Marks: 10

2nd Month, 4th Week, 1st Day Syllabus: Unit 2: Review Exercise Q.No.1, 2

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The first common multiple of 5 and 10 is: »»»»ªªªªœœœœuuuuZZZZDDDDssssìììì:::: 10 ZZZZzzzzgggg 5

(a) 5 (b) 10 (c) 20 (d) 50

ii. 13 is a _______ number. °°°°ŠŠŠŠìììì:::: _______ 13

(a) Composite %“ (b) Common œu

(c) Multiple ü (d) Prime GŠ

iii. The common porime factor of 2 and 4 is: œœœœuuuuGGGGŠŠŠŠbbbbzzzz¢¢¢¢!!!!ìììì:::: 4 ZZZZzzzzgggg 2

(a) 1 (b) 2 (c) 3 (d) 4

iv. The prime factorization of 24 is: ÅÅÅÅGGGGŠŠŠŠ‹‹‹‹~~~~ìììì:::: 24

(a) 8 × 3 (b) 1 × 24 (c) 2 × 2× 2× 3 (d) 2 × 6 × 2

v. If _________ of all the digits of a number is divisible by 3, the number is

divisible by 3.

6666,,,,‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„ƒƒƒƒÇÇÇÇ:::: 3 ÐÐÐÐ‡‡‡‡&&&&ÿÿÿÿEEEELLLL„„„„ƒƒƒƒÂÂÂÂzzzz{{{{°°°°ŠŠŠŠÌÌÌÌ 3 _____________ ZZZZ¤¤¤¤////ËËËË°°°°ŠŠŠŠÆÆÆÆÓÓÓÓxxxxyyyyÎÎÎÎVVVV»»»»

(a) Sum ù· (b) Difference �Ût

(c) Product quÿL¢[ (d) Quotient quÿL¢[

vi. 112 is divisible by: ÐÐÐÐ„„„„ìììì:::: _____ 112

(a) 10 (b) 5 (c) 2 (d) 7

Q.No.1.   Tick DDDD����EEEE    the given boxes in the table by using divisibility rule: (5)

™™™™,,,,:::: DDDD����EEEE ::::ŠŠŠŠbbbb‰‰‰‰{{{{ââââVVVV~~~~„„„„ÆÆÆÆZZZZßßßßwwwwÆÆÆÆ____.... 1 ÎÎÎÎZZZZwwww����

Numbers Divisible by 2 Divisible by 3 Divisible by 5 Divisible by 3

(a)   986

(b)   5409

(c)   5600

(d)   81810
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